AlfE2 EEESEHERERE

EiihERR T
AFh g EHL &5t Bt B =
Tl =T 13740 x 0.80 1099.20 1099.2 o
ELTmiE 109920 + 1138 x 0.1862 + 450 x 062 1148.29 1148.3 o
REEZIE 1374.00 1374.00 1374.0 i
GEH
AFh g EHL &&t Bt B =
BaE» H=300. K'E& 7+6+7+6+43+43+1.8 113.80 1138 o
ETEH 12 (68<R)
AFh g EHL &5t Bt B =
EfEi5 & EHFIBt=57cm Tx6%2+43%30 1374.00 1374.0 >
BEHRELY
P& A%t=15cm Tx6%2+43%30 1374.00 1374.0 .
BARA0-40 m
EEMLEt=5cm Tx6x2+43%30 1374.00 1374.0 .
B4 (50%) m
*Et=3cm Tx6%2+43%30 1374.00 1374.0 .
BEAMKEEAS m
HiE
AFh g EHL &&t Bt B =
HiE HEHNHEIBt=31cm 1.8%10+1.8%50 108.00 108.0 i
EHRELY
PR A%t=15cm 1.8%10+1.8%50 108.00 108.0 .
BARA0-40 m
*Bt=4cm 1.8%10+1.8%50 108.00 108.0 i
BAEMAIEAS
B#a
AFh g EHL &5 Bt B =
mEER 50 50.00 50.0 o
IB 10%4+50 90.00 90.0
m
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E3ii

g EHL &5 Bt B EES3
BARARERE W= 5% (17%2+16%2) +2.5%17%2+2 5%15%3+6%6+7*4 591.50 5915 o
EfeEd
HEEK i} i}
AFh R EHL &5 Bt B EES3
i ¥a W=03. BEZ. IHHEHY [0.3*x(10+7+6+4+7+6+43%2+1.8+50+20) 59.34 59.3 i
EREY
REATHE  BEERE 10 10.00 100 X e
SARKER ThIU<Y 10 10.00 10.0
= H=3.0F2 & * o
YIEID 10 10.00 10.0
H=3.0f2 £ * s
% 2 i
AFh & ik &5 Bt B ik
Y—EXEER FE Y (AO.HO) 2 2.00 2.0 "
BT EIHRG Y (BER) 4 400 40 5
K EEK I 48l 43 43.00 430 o
= T7-25 LEAE
EiEYigE
AFh & ik &5 Bt B ik
BaEs avo)—rERYEL ., B 0.173 x (7+1.8+7+30) 7.92 79 .




R ERARAR

2 & ik &5 Bt B e
KRR c<20 16.00 16.0 *
20s C<30 1.00 1.0 &
30s C<60 8.00 8.0 *
60 C<90 20.00 20.0 *
90 €<120 12.00 12.0 *
120= C<150 4.00 40 *
150= C<180 2.00 20 *
180= <210 1.00 1.0 *
210 C<270 2.00 20 *
270 C<330 1.00 1.0 *
N &
2 & picE 0 &5 Bt B e
avol—k 0.098 x (7+1.8+7+30) 449 45 . 173t
x EtbE2.35 )
BAR 0075 x (7+1.8+7+30) 344 34 s
x LbE2.5 m 141t
FEM 32.42 32.42 324 .
28.2
« [RZER m 8.23t
FEM 9.02 9.02 9.0 .
10.12
x $TEH m '
R 25.552 25.55 25.6 . 165t
# 774 77.40 774 . 230t
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